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D A=64,B=230 @ A=+64,B= =30
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4. x*-6x+A=(x+B)> € W, AB & 32?

@® -36 @ -27 ® 27 @ 36 ® 216






ol
iS¢
o|J
o8

ofg
Nlo
S
o
_
!
o
<r
ojn

X2+7x-8

DO (x+8)(x-1)

=x2-9x+14

@ (x=2)(x-7)
® (x+3)(x-4)

2 +x-12
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@ 2 @ 4 ® 6 @ 11 ® 16



12, (x+y)(x+y-1)-20 & HE2A Qlaaof gt A2

@ (x+y-5)(x+y+4) @ (x+y-4)(x+y+5)
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@ (x+3y-1)(x-2y+4) @ (x+2y+4)(x-3y)
® (x+3y)(x—-2y) @ (x-3y+5)(x+2y)

® (x=3y—-4)(x-2y+1)
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@ x+y+2 @ 3x-y+2 ® x-y+4

@ x-y+2 ® x-3y+2
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® (x+a+b)(x+2a+ 3b) @ (x+a+b)(x+ 3a+ 2b)

® (x+a+b)(x+3a+3b)
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7V a® 4 2ab + b? = (a + b)?

W) a® - b* = (a+b)(a-b)

) x2 + (a+b)x +ab = (x+a)(x +b)
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(2h acx? + (ad + bc)x + bd = (ax + b)(cx + d)
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20. v AgEe I ol 8 TS BF A2 (Fa>0,b>0)

W4yl dy -1 =2 - (D2 -4y +1)=x>-(2y-1)?2 =
(x+2y-1)(x-2y+1)

@® a* +2ab + b* = (a+ b)?
@ a*-2ab+ b* = (a-b)?
® a?-b?>=(a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)



